
T

qfr+ffiI ftrwt '-

trr5$-r +

fudrr dffir + sffidfd Eratr( ft6ft urtl-,qrm + fu6nr qrs
olftftrurs fr Enq+-+frilur-,r{{dffiil +€ qraf .rr Erq Hvr
@-z.oo ffio)

ffiryo atfr sffifl a *e q rd qlfu ftt Hiur qffin *e FT rnTor-q{

rnrFrd fuqr 
'Trtrr B fu BTiffi rftrd fu sflafrd ra ef,fr A srfrFffi

sra ot$ ffi6 +1fr sumfl dfi B q qqfrd a1fr ur fi qffidr or Mvr fu-qr

qr t't-oan Bl Brlafru 0.105 Bo fr{fuf, elB r,?i o.7t7s to $Rferd rq ,tfr srqfd

Ed o.a22s to iror &tfr of aiar qraa B q EEr$ tn-dT rrET a1fr w qffiqar or

Erflfur 6rd fu-qr cTrErT rfir{}rq rS B r

.Y
ofrs\eiftq?T
oToso dofrofro *q-.n
(Uunorq: +1ffi{q{)

/h,\-
w,dtqlr:r+,r,fr

N"s----
rgr+or,,arFftfor

oroso eilo'fr0fr0 f{Tq
(gwraq: otffi+rrq)

etffi{q{
ftgfr .raEra

.\1,

doftofro +fi-{rri
, otftfrr.n)

ffi
ffi.ra-{-m

agftrqrs
ffiHhm$qnTll-JT

ffiffihc 
cs

ffi:lffir|



qQfudr ftra{ur":-

u!:ffi-l5

fu61r qtffir + ,,-* 51Eil1-6 fr6.$ ur6rd e Ffsrgr qqt

dfrfddrg fr Enr$-ffiuFr$F'ffiil fra 6taf iDt aE ffir

@ar$-z.oo ffio)
t

.v
*ehffr*
eroso dofrofto sftq'R

€qroq, fr1ffi{'R)

*e etqqP ($Efqrd Td eFt

n
\)19--

sgr++.ertr{iilr
Gro1qo dofrofto 8fi-{iN

$wiao: dff={trt)

ffi

-ffiqar ot
ffir€ (*6{

fr)

ffi
(*d{

fr)

FF6{ Go)
-Er traT q8{tJI

tFT EIraT

IIET effi
6t arfr

Td flr6
tFT EIrdT

7.0 0 0.7 17 5
sirr+{r
zrfr >rr 1025.00

fe6$ ar.trrd

tl.6T qeTldt

qf##q qq s*i-riT .



F
.+.
h
E}
E
E
E
E
Ea
E
E

grsq-r 5.1

qfunq{r frewr t- ftrdr dffdr + sffidfa qqcrE ftrS urgra + fro,rs qrE dfttms t
arue-ffiur-er{rdfd at€ flaf iFI Ettr FrdfuT GrEr€-2.00 Mo)

+e eiga
(srpfl4rfr,fuBd,ira dqrcrcT W arq ,1fr Ag tlcrar frarBr Arsr frlur qrar B D

FD
II)
tE)
a
a
a
a
a
iEl
ra
rQ
E
e

\

ffi-
rsffiq

a-6ffii--&Ss
fts*€61q*'**

Qfrtttt
*tfr
*

i
I

I

I

af1
-ftd GTfu{idT

soso dofrofro frq..lr

$uurea-o: dlffi{,Tq)

.,u{ffig'i
3Toso 6\onofro strr.T{

(gqraq: otffi{Ti)

a-d ftrarlffi
etffiqri
ftgft .ra-qt-d

d-6?ftd ffil?F
I

q{{tr
rio

QA r+-Or qtteltrdr dI
ff@r€ (*iE
d)

ar$r$

(dE{ fr)
3TrdBd

*{E-d Go)

3{Rlerd

fufum r,ti
*{d
ura aru$,

r6tt ftrr{lrdr ?FTI-'T

6IJI{

7

91

93
95

0.049
0.042
0.007
0.007

1 025

150.00

7.0 0

7.00

o.717 5

0.105

*rr 4 0.r 05

da qqlerd

qlrr {4 axfr

825 7.0 0 0.5 77 5qrq qil4

g-o ulo 1.400

orolEo aloftofro strq.T{



Ehhl-trF
+rhL
h
+.fE
E
h
E
h
h
E
I-
{-h
IbI
E
.+.
Q
t5

qffiqer frftlr ,-

-,I

*#6#f
soso 

-aonoao 
sfi-q-rq

€uqra-q: dlffi{rq)

9f5t[- 1 6

ftrmr fudr + Bffidil El=illq fr6$ urf,drd + Ff6rs ffi
qfffthdru fr drrs-ffiur-r{€trq *d{ flaf iEI Er.I Frflfur

ftrmr$-z.o o ffio)
qffiar aft rqr€-dEr$ or k+wrl

.w
^.af r^-G,--

(t,l.l0o. \,ll+tqot

soso doftofto sfr-q'T{

(5wrc+: dlffi{ro

n
I\

\Jl, n\/,v _--"-_..
.{-

s6r{fi'3ilrr{rdT
cToqo ar)oftofro fr-{rTq

($sroq: thtffi{qq)

(E
a.a
(E
e
Gt

L-

iFOTTO
---ffi-ffi-m d6r$

f#dz frl
fr$rd fft€ fr) aET *{Ed Go el

1 B{Rftrd aa afB 1025.00 7.0 0 0.7175

2 ft{frd *+a atre 150.00 7.0 0 0.105

3 Td d-.rr+d etH

4 srq M of aa

,1fr Ffr apf d)

ca a1fr qtr *rr 1 1 75.00 7.0 0 0.8225

5 arq affr 825.00 7.0 0 0.s775

gffi +dr- 2000.00 7.0 0 1.400



G{oso doftofro sft{.Tq
(Uqraq: qftffi{.R)

(w
*f,+ sTfu{idr

soso doftofro ,ft-{rT{

€qraq: dlffi{,Tq)

trh
+.
rhDa
h
heaae
-)aaa
A)aa
aa
a
a
a
*

Q
fra
hAe

Q
F*r

\.-

n
qffirqr frawr ,-

9f5,rt- 1 7

fudr +ffir + sffidfa qErqfr frES urq;{rd

otfttaurs f ilu$-ftrSq-ursrdf{ +u ardf

ftrar$-z.o o fuafto)

+ fuors q's
rFr aE Frflf"r

GrfEfrd (SEI= lcu = I oo r\^ )

.4,ry>Ilr
tr,EtrIT,t-

n
ffiT'$?'41,f,rt-

€Be,Arq-{ a-nXfi-

aa
Q

1'oo K*

fro nfrq-.n

q?E{T( ffi rqPl 'kkffitBq ffi'-qtffl'":l
gi*.i;i''H1


